1. How many acetate ions are found in 1.04x1045 _______(insert the correct particle type) of iron(II) acetate, Fe(C2H3O2)2?
2. A scientist orders 14.0 pounds of carbon which she wants to use to make C12H36O12. How many moles of C12H36O12 can she make with 14.0 pounds of carbon?

3. Calculate the mass of dinitrogen tetroxide if there are 4.85x1024 _______(insert the correct particle type) of dinitrogen tetroxide.

4. How many moles of oxalate are in 14 moles of aluminum oxalate, Al2(C2O4)3?

Work 49 and 50 from your packet (reprinted below)
49. A hydrated compound containing an oxyanion is composed of 47.16% Pb, 14.59% S, and 1.839% H. Find the formula and name it. 
50. An 18.00 gram sample of a binary molecular compound between nitrogen and oxygen is found to contain 2.93 grams N and have a gram formula mass of 344.94 g/mol. Name the empirical formula. Find the molecular formula. 

